IR Y I RE KRR RIGHREE

B T =7 —FHF (RERMFT)
Bt : %07 %06 3148 ~06R15H

BFF—LEFIE BFEAGREFE

NIE L 2 R 4B MERR| #R IR 5z K& FE FR4 MEFR| BR
1 B KBR 234.750 1 NG B 3 R KB 79. 500
2 ] W& | 226.200 2 T XK 2 AR PN 78. 300
3 KRB XFRE KB | 220. 400 3 T E—H 3 ) RER 76. 500
4 AR KE KBz | 217.000 4 I XR 3 R RER 76. 400
5 [E & 3L e EE 202. 950 5 WA B/ 6 3 AR KB 15. 650
6 HBERIER #E | 199.900 6 H KE 2 AR PN 74.900
1 ERERITEREE EE 195. 300 1 SES IS 2 AR KB 14. 050
8 | MR F0FRLAL | FaFrl | 192.900 8 e BE 2 AR PN 73. 800
9 TR T 3L A 5 D 159. 250 9 Eff K& 1 R KB 13. 550
10 RREIHRE =R | 150.950 10 B ¥ 2 B RER 73. 250
11 fHE #— 1 AR KB 13.000

12 ® B 1 RIRIEE KRFRE PN 72.950

13 AR FH 3 AR KR 72.700

14 | +ZH 4R 1 ] RER 72.550

15 B EX 2 | RIRABEKRFRE KB 72. 300

16 g B3 2 ABFRKE PN 72. 200

17 KiIA & 2 =] R 12.150

18 Fik HE 3 ABFERKE PN 71.500

19 BE R 2 | KIRAFRZRE PN 70. 800

20 £k BE 3 ] RER 70. 650

TFF—LoEFIE TFEANBRREFE

NE sz ZF R A HERR| "R NIE iz K4 FE FR4 MEFR| &R
1 Y% 22 2P PR EE | 147.950 1 R F2ib 3 HE R £ 2P B £E 50. 700
2 HIE PN 146. 550 2 P BAF 3 23 KB 49. 400
3 FE W 31 FE W £EE | 144.900 3 BE K& 1 JE W T 3L fE IR £E 49. 200
4 HE PN 141. 900 4 ARHE EBE 2 IR R 20 F BT EE 49. 050
5 KRHARIVY #E | 138.750 5 = BE 1 %[ ABr | 48.950
6 HBERIRER HE 133. 050 6 KA BIE 3 KRF= KB 48. 900
T | KENZFXREWME| FE | 132.650 7 AT KK 2 JE W T 3L fE IR £E 48. 500
8 TERTFRR WER | 126.200 8 £k X4 2 KRARIVY HE 47. 950
9 REAFILEFT WER | 124.750 9 R BR 2 HE R £ 2P B £E 47. 600
10 REXFHE =B | 112.550 9 —E %A 1 HEFE Kk 47. 550
11 ES 3 AE ABr | 47.400

11 RE & 2 HE KB 47.400

13 BE %K 1 [EW 3L IR EE | 47.200

14 FB FFH 2 HE KB 47.100

15 Tk 2B 2 2[4 ABr | 47.000

16 P 21 3 | KENZFREHE| KE | 46.750

17 B hig 2 B ABr | 46.550

18 218 Tht 1 YE B 2 F e EE | 46.300

19 =i BE 3 KRARIVY #HE 46. 250

20 BH ORTF 2 =Bt KB 45. 850




